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145 BERE 05 65
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it 26.4 107.8
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3~4 | 10:46:25( 11:09:32|BEE-N'A-99Y—-n'1) |FEEAMHE 33 23.1 8.2
5 11:17:45] 112702 BBE-NR-45V—-n 1) [ABXES 1.7 9.3 175
6 11:44:33| 11:54:20| BEIEE - R-89Y— 1) |36 (£EF) 1.8 9.8 22.7
7~8| 12:17.03| 12:45.05|BEE -N'R-99Y—-n'14 |[BEEMT (TR 43 28.0 16.3
9 13:01:20| 13:19:50( HENEE -N'R-49Y—-1'1) 3.2 185 1.0
10 | 13:20:49] 13:24:48|% % - BEzE R 0.3 40 128
11 | 13:37:36| 13:44:50|%k % - 5= 0.2 72 0.6
12~1] 13:45:25| 15:1443(BEE-N'R-990—-n1Y) | BEF 19.3 89.3 223 1,000 400
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3 10:20:24| 10:54:44|%E % - HERE J\IR i+t 1.9 343 285 1,200
4 11:23:17| 11:27:02|#E % - Bé5E aa 0.3 38 9.3
5 11:36:18] 11:55:48|%E % - HiRE TENE 0.4 19.5 10.3
6 12:06:08| 12:18:22|# % - BIRE EIKIF 0.3 12.2 31.3 2,815
7 12:49:42] 13:35:14|t 5 - BEzE 25 455 90 530 1,300
8~9| 13:44:15| 14:06:57|BEIE-NR-49Y—-N1Y [IBEFIRERED 7.6 22.7 13.0
10 [ 14:19:55) 14:46:57|BEE-N'R-49Y—-n'19 |ARETED 6.3 27.0 31.0
11 | 15:17:56| 15:49:32|fk % - B5E BALJE;D 0.7 31.6 151.3 7,000
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2 11:27:47| 11:40.03|#E % - BIRE EaFEAHREE 0.6 12.3 95.1 4,042 4,660
3 13:15:11| 13:38:39|%E 25 HERE —ER~EEIR 0.5 235 72.8 19,784 3,300
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it 9.7 107.3




E-4—F5 18-1326 TRENR
EA B G AR ] ; Y
ko 2 L,/> / T
INEELT 0 ' : i -
65i% LA E 0 (J) . I / ;,_; i H‘g—]’
TN—TRM 31 5 y ; g ) L‘\J A
H/"' f'r Irj. ¥ PRl i :ﬁ‘;:‘_ £
AERIREZ 8:45:32 s Y I{/ i b din
= — 5 -q___--l; _.,‘:"\-\r A J e
REH T FZ 16:20:55 P , A
BBOEBGY | 1132 1 v f
#IRTERE () 342.2 e -
BE/RE L 03 =3 LA
FLAB
Code
- ]
7
—
[}
5
£
7
-
9
10
- 1]
— 12
- 3
— 14
15
16
17
]2
19
20
B LT—T )L
) P . NI | TS ENRERS | S TERSRS HEEE (R Z ~ RO H FEFZ)
Code | HFERXI ZIREHI TBFE Eiit m) |G | (D) [TABH|251E | 3KER | 4%ER | 5201
1 08:45:32 08:59:45|EBHE-NR-49Y—-N1) |FatEF 0.9 14.2 12.6
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